A

2000 &= =20l & LEgH|
SN 2F2ED
M HE2FFUI(2HFESH)(IIEH/IIE)
chel: ol 2 Ay LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SEBS 2,477,999 4,737,385 N2,259,386
= 25,660
& 51,868
iy 2,400,471
HEM2AAH| (2250 (JIEHDIEH 34,992 0 34,992
ol 2H Y| 4,200 0 4,200
ol 2| 4,200 0 4,200
203 YRFEH| 4,200 0 4,200
04 ENSILERF=ZEHI 4,200 0 4,200
OFAN2IELEFA 350,000& » 12& 4,200
Jl2&d | 30,792 0 30,792
Jlezdyl 30,792 0 30,792
201 B2 AH| 21,192 0 21,192
01 ArR2t2|tl 19,032 0 19,032
Ot 14,832
0. 2AR2ES 66,000& = 2090l 1,320
0.AI2217] & =SAIES 12,936,000 12,936
0.AER=EE 48,0008 = 128 576
O=2 | 210,000& = 2090l 4,200
02 =32gH| 2,160 0 2,160
OZ2Z222YLHA 2,040
0.2ER2 102,000& * 200! 2,040
OAl& &HI S AlH] 120
0.H2D| A5 L 22| 120,000 120
202 O4Hl 9,600 0 9,600
01 Z2UWdH| 9,600 0 9,600
OO0l (2s&YI)
200,000& * 4= « 128 9,600
SIASS (B3EES /8t HE S 71,013 59,076 11,937
= 4,000
& 857
o 66, 156
SHAES 65,299 55,276 10,023




SA
X XH .
(=

chel:

SFES
HABS(BEES/8EES
$EES

_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
EASS ALt 65,299 51,476 13,823

101 Q14 6,119 4,856 1,263
10 JIZH22XUsEES 6,119 4,856 1,263
OSHMNERLY S TAI R
30,9002 1170 A %182 6,119
201 LEr2YH| 19,000 16,900 2,100
01 AtR22/H] 7,250 5,100 2,150
OLeta2H| 4,800
0.0 =HI|IZHPL 10,0002 = 1000H 1,000
0.0=T2IE)| EHIY(BARELR)
350,000 * 23] 700
0.8 BN DXA Q24 3,100
oEEE 110,000 * 102FA 1,100
o=g= 80,0008 * 258tA 2,000
O= &l 7,000 x791+50 2,450
02 2229 11,750 11,800 A50
OZZ222 2 HA 11,750
0.8 2 BYS LE2 QU2 11,750
0E DI 1,750 & * 5004 * 23 1,750
oY gt 250 & * 20,0001 * 23] 10,000
202 04 14,280 16,320 A2,040
01 =2LHOIHI 14,280 16,320 2,040
OJ 2R3 0{H| 170,000 x7Q1 122 14,280
203 UR=ZFH 3,000 4,000 A1,000
03 AIMZXADZ=ZY| 3,000 4,000 A 1,000
OHMAEMNHTUI=N L EYHHAS
1,000,000 1,000
OXistAAR =X 1,000,000 1,000
OB A ZALSA2EX 1,000,000 1,000
301 ULBA2 2,900 2,900 0
12 JIEtE A2 2,900 2,900 0
Ogdsie A0 24 2,900
0.MEDIEHED 50,000 *302 1,500




AN B2
HHM: SHALES(BZES/EZESdE
SR (9@ 2)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
0.13122 AERHRAL 70,000& 2021 1,400
405 XtobESHI 20,000 2,500 17,500
01 =S SHSEHI 20,000 2,500 17,500
OAFRFAZEHT 20,000, 000& 20,000
AN EZ W25 5,714 3,800 1,914
= 4,000
& 857
= 857
HegstdusZ2 Jda XA 5,714 3,800 1,914
= 4,000
& 857
i 857
307 QIZt0IA 5,714 3,800 1,914
= 4,000
= 857
2 857
02 BltFaExX 5,714 3,800 1,914
ONgstzduso2 1A 5,714,000& 5,714
- 4,000
= 857
i 857
osd 25 (3#Z2E2S/MH) 175,675 276,191 A2 100,516
= 21,660
= 30,011
= 124,004
ASFEH 69,182 65,161 4,021
NASZSHALS FX 69, 182 65, 161 4,021
101 el H] 49,631 48,190 1,441
10 JIZtH22AsSE* 49,631 48,190 1,441
OXNHES L =2 RAX 22/22Y 23,675
0.J122 30,9003 *22! %1801 A +20 22,248
0.4 SEZ (A, D&, 212, 20)
1,427,000 1,427
O&Z,ot&H My |2y
30,900& 102130 9,270




2M: S3HESY
MH: HEH B5(HAES/NH)
&Rl NJHSHEH SRl

_ _ _ Muo
M- F= - S2(3H) - MRAY - BES Abod e HlnE2
OBtEE 2HMIIH o=
30,9008 * 110HA = 1091 * 4 13,596
OR%#S M J| £Icz oy
30,9009 * 100 3,090
201 Ler2y| 6,801 8,721 A1,920
01 AtR2rel| 6,801 8,721 A 1,920
OYer+gH| 6,801
0.FR#2X LU 55000216702 830
0.7RAN BNHE BE2B0I4
1002 %5,0000H 500
0.9%X 3&A 2+
200,00021 * 1374 £ 2,600
0.8AERRY 5,000 %55 %1304 £ 325
0.822 SFX7Y 46,0008 26 A 1,19
0.aZaTE L X 10,0002 *139H A 1,300
206 M 2,300 2,300 0
01 Mz 2,300 2,300 0
ONMEE 258 4Z7Y
10,000 & * 305 300
OREN 3txal gojorzael 1,000
0.2EA 5002 2,000 1,000
OSEI| OHMSE 90|72 500, 0002 x25 1,000
301 LerEAR 5,450 5,950 A500
10 BAAH2AZ 4,450 4,950 500
ONALESXNEE NFEA
30,0002 1001 %5 1,500
ONES = A3 HAA
30,0008 %1091 *43] 1,200
ONUESNEAY L 2 Hols| &A
20,0008! * 1091 x5 1,000
OFZEH MOILE &4 30,0002 *501+53] 750
12 JEEA3 1,000 1,000 0
OBZAHAND P& 50,0002 202! 1,000
307 QI2HOIF 5,000 0 5,000
03 ABISHHEES 5,000 0 5,000
ORI H BB S AL X2 5,000,000 5,000
SASE5UBY 106,493 211,030 A 104,537




2AM: 2#EES
Mz sty B (sEES/AH)
CHol: OPMEASE SRR (S92 g)
S BB (EH) - NEAY - BAS 0l & o4 e HInE
OtMESAESESL2e] = 21,660
& 30,011
= 54,822
OHEs=E =20l 24 62,033 95,000 A32,967
& 18,611
[ 43,422
301 etEaza 62,033 95,000 A32,967
& 18,611
= 43,422
12 JIEIEAZ 62,033 95,000 A32,967
Ot s==sXHZ0dEaS 62,033,000 62,033
< 18,611
= 43,422
OS2 IIoHM &AL 44,460 48,000 23,540
= 21,660
= 11,400
= 11,400
402 OQIZ2HAHE0| & 44,460 48,000 23,540
= 21,660
& 11,400
= 11,400
01 Q2ZREEE=X 44,460 48,000 A 3,540
OOt == o0l Z Al & X & 44,460,000 44,460
= 21,660
& 11,400
o 11,400
FH 2L (BFES /MG E - =) 302,810 59,500 243,310
Xot=SXl2el 291,350 59,500 231,850
KIGt=0| S & EH = A} 291,350 33,500 257,850
201 LB29| 510 0 510
02 =229l 510 0 510
ozzez 2 MA 510
0.XIots 2t RERF 510
os I 1,750& = 10 A ~ 12& 210




SN SRS
B 2 Rol(BHEEE/AEAT - 2 T)

ool st e (el @)
_ _ _ Muo
SA-E . S(E) - MEAY - BES 01l &4 24 i HIRE
og gt 2503 = 1004 = 12 300
206 M=l 840 0 840
01 M4l 840 0 840
OXlot==2HAIE I 7 1,400& * 6007H 840
207 A SoHEH 250,000 0 250,000
01 ¢339 250,000 0 250,000
ONs4 2= JI=HE >
250,000,000 250,000
401 AIEHIZSOHI 40,000 33,500 6,500
01 Al&HI 40,000 33,500 6,500
OXIBH40I BAEHEAN(XE B4, 0 AS
) 40,000,000& 40,000
=l 2tel 11,460 0 11,460
FH2IEFERFA 11,460 0 11,460
201 LEH23H] 3,300 0 3,300
01 AtR2teld 3,300 0 3,300
Oget=ZH| 1,900
0,487 e EBSH

100& * 4,00000 = 23] 800

100& * 5,0000HK 500
0.=H=23&c 223
50,000& * 22| * 62 600
O=gtl 7,000 & = 491 « 50 1,400
202 Oddl 8,160 0 8,160
01 2UWabI 8,160 0 8,160
OJl=g =80l 170,000& 401 » 12& 8,160
MEHH ES(23ES/XHH) 184,500 0 184,500
dESE 25 184,500 0 184,500
MEEE ol2gelxd 184,500 0 184,500
401 AIEHIZ=0Y] 184,500 0 184,500
01 Al&HI 184,500 0 184,500
Odtatd dESa dlReel=dAdII=2
2 15,000,000,000& = 1.23/100 184,500
SHNL(BEES /oI E - =E) 361,418 318,814 42,604
eIEH 2 361,418 318,814 42,604




AN B2
s

Bz AR
5} 2

ool BISEER (£ &)
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
sssza e 339,656 296,161 43,495
101 Q12| 134,106 143,277 A9, 171
10 JIZHIZNE2S 134,106 143,277 A9, 171
OB zA RN ALY
30,9008 * 6204 * 702 134,106
201 gr2g| 14,550 11,520 3,030
01 At 22l 11,550 9,000 2,550
OgurgH| 11,550
0.BESFA BL4HE 50,0008 %7704 3,850
0.253 %4 HIYSSTY
100, 00024 %7774 4 7,700
02 Zz2Y| 3,000 2,520 480
OZzZe= ¥ MM 3,000
0.2EsFA IS
25,0002 1074 #1202 3,000
301 YB3 1,000 500 500
10 SAAEISAS 1,000 500 500
OZZaima Helo NREA
20,0002 *509! 1,000
401 ANSHILLHH 190,000 140,864 49,136
01 AZH] 188,290 140,000 48,290
OZEsza &7 163,290
0.0{& A= 45,000,00024 45,000
0.2433 50,000,00084 50,000
0.S3MEH% 68,290,000 68,290
OZEaFA F| 20,000
0.B53 A XS4 20,000,000 20,000
ONE2L WEAL AHEHAY
10,0002 * 507K A 5,000
03 Al&=CHl 1,710 864 846
OZZALT JIEL20Y|
190,000,0002! * 0.90/100 1,710
SRBABH 21,762 22,653 AB891
101 QI2Hl 927 883 44
10 JIZHIZNELS 927 883 44




SN BASE
Hal: SENM(BALS /MG - 27)
ool BB (S5 & 9)
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
N ENEEREER
30,9002 %309 97
201 L2yl 9,775 8,660 1,115
01 At 22l 9,775 8,660 1,115
O+t 5,600
0.4HHAD YHEY 7Y
100, 0002 %10 A 1,000
0. ZHATLSRHIE 1,000 *1,500% 1,500
0.Fstx22 MABKTY
110, 00021 x2Z»28t A 440
0.4HRYAD +BAAL22
50,0002 * 1021 500
0. 88 ZT2 IR 180,0009 * 122 2,160
o3zl 1,400
0.BAMMLL U HB22X
7,00021 %421 +502 1,400
Om=| 400
0.2FAD BR=TY 10,0008 * 40% 400
02222 2 MM 2,375
0.8JHE SI| B2 1, 7502 *5000H 875
0.F3 X HAO SHRS
25021 %5000 * 122 1,500
202 OiHl 10,560 10,560 0
01 =Ujoty 10,560 10,560 0
OJl2 Y L4830t 170,000 %421+ 122 8,160
OFsEAL £ 200,008 * 122 2,400
405 X+t S| 500 1,500 A1,000
01 KAUSEHSH] 500 1,500 21,000
000 EFJ| 7Y 500,008 * 1% 500
MSHII S (BB LS /HIIS) 1,162,930 4,023,804 £2,860,874
= 21,000
2 1,141,930
MM el 1,162,930 1,073,804 89,126
= 21,000
2 1,141,930
HulZ 48243 50,000 75,000 £25,000




AN B2

M MEHIISH(HEES/HIIZ)

CHel MEMyd| 22| (chel &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
HEHY+E2 43 = 11,000

= 39,000

301 YEtEA=E 50,000 75,000 A25,000
= 1,000
= 39,000

12 JIEIEAZ 50,000 75,000 A25,000
OHHIE=EENS 50,000, 000& 50,000
& 11,000
i 39,000

MEM D] A 194,404 169,555 24,849

101 el | 62,889 61,925 964

10 JIZtH2Z2NSES 62,889 61,925 964
OSHAIJIA EA002Y 62,889
07123 30,900 & = 621 * 255 47,277
0.=Xt==4 30,900& * 621 * 52 9,641
0.32d3z3 459,000& * 6¢! 2,754
0.40HE&= 3,217,000& 3,217

206 M=l 43,640 36,430 7,210

01 MZHl 43,640 36,430 7,210
OEEN=EME 43,640
0.28r=(32) 17& * 30,0000H 510
0.4ut5(5¢) 21& * 30,0000H 630
0.28r=(101) 30 & = 80,00004 2,400
0.48t&(204 ) 50 & = 90,0000H 4,500
0.28r=(501) 110 & * 90,0000H 9,900
0.2urE (01002 ) 4102 = 50,0000H 20,500
0.332(0tCtH1002 ) 410 & = 10,00004 4,100
0.238(50¢) 110 & * 10,00004 1,100

301 YotEa= 12,200 21,200 29,000

12 JIEtE &= 12,200 21,200 A 9,000
O ALSALR &S AIE 50,000 & * 320l 1,600

OoMess =243 & ez

30,000,000& * 30/100 9,000
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AN B2

M MEHIISH(HEES/HIIZ)
Crol: ME M| 22 (9 He)
SNBSS - HRAY - BHES 0 & o4 e HIRZE2

OMEEE 2= OIS Mi= 1,600
0.2 = 500,000& * 1JH2A 500
0.% = 300,000 & = 2JH 600
0.8 4o 100,000 & * 54 500

401 A &HIZ20YI 75,675 50,000 25,675

01 Al&HI 75,000 50,000 25,000
OHHIEEXEEX 25,000,000& * 3JHA 75,000

03 AlE=C0HHI 675 0 675

OHHIEEXELEX SO

75,000,000& = 0.90/100 675

HoI2SESM2ANdE2Y 898,526 829,249 69,277

101 @Il 60,791 15,503 45,288

10 JIZtH2=AHsSE 60,791 15,503 45,288
OX2U22d L FUSEALE 22URY 45,816
0.71=22 30,900& * 4¢! » 2559 31,518
0.=Xt==4 30,900 * 491 x 52 6,428
0.=38AZ 750,000 = 490! 3,000
0.40HE&= 4,870,000& 4,870

ZEHIISESEHMUEAIE FU2ZAIZQ!

—‘?’—%! 11,132
07122 30,9003 255 7,880
0.F=x==¢ 30,900& 52 1,607
0.281d3 35,5503 *12& 427
04028 x 1,218,000& 1,218
OMEE @ woioli=gl 3,843
0.J1=2= 30,900 83 2,565
0.=Xt==4 30,9003 x17L 526
0.32d3 35,550 x4 & 143
0.40HE&= 609,000& 609

201 Lt 439,343 316,133 123,210

01 At 2teld] 108,222 109,735 A 1,513
OgBt=2Ht| 99,686
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AN B2

Nu: MEHOIZV(BAES/HIIE)
CHel MEMyd| 22|
SN HB SR (BIH) - A - B S 01l &k o S
- o= T ° - [EEMREECES &= 0:”/.:"%
B EEREEEE T.950
oAIZEMZ 1502 = 3,0000H 450
oMEHE FHl LAAR=cl 1,500,000& 1,500
0.RQBHIAAE =3 7,104
oM&=&1 150,000& = 12& 1,800
oHEH 172,000 = 123 2,064
oA 270,000& = 12& 3,240
0.A22 BIIIDIA SISHETL42
220,000& = 23| = 12& 5,280
0.0HEE =2 HAt==E 17,729
odETRS 972,620& * 43| 3,891
odETYFH 972,620& * 128 11,672
o Xlot=& AtE
270,710& = 204 * 43] 2,166
OLNEZSZUHEE A2 32,475
odETRS 972,620 * 3L * 43] 11,672
oHH&EJtA 228,470& * 93| 2,057
0EARAEL 750,000 * 120H 4 9,000
o XNIot=ZAtE 270,710& = 363l 9,746
0.2 &S Heltl 265,000& * 50& 13,250
0.22ZC0IRN SH44E
3,000,000& = 12l 3,000
0. &8P (&L,01A3)
100,000& = 43l 400
0.AE2Y 827 (0tA,%2)
10,000& * 10& » 51 * 53] 2,500
0.F022AL BEPY(HIES)
2,000& * 6& * 50074 6,000
0.0t 1XtA 2 &IC 25,000 »232! 575
0.0l3t&2XtH 2 &I C 575,000& *30% 173
0.42% Q4HRANL HA 242
250,000& * 13l 250
0.00EY HES STEZE HA
1,500,000& = 13l 1,500
0.40222Y 2274 (63) 1,500,000& 1,500
0.222 JIAR =nl=4
200,000& = 5& * 23l 2,000
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AN 232351
M MEHI|I S22 (SEES/HIIS)
G MEMY Dl 22 (&2 &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
0. MUIZEEHIE SHSE 2 (LECS
3=) 2,000,000& 2,000
0,83 ua2d =s2=2ME 2,000
o= HEH 2,000& * 1,0000H 2,000
O= &l 7,000 501 x50 1,750
Oslg DSyl 50
0.782x22 RSEA
50,000& = 10l 50
Onl =yl 736
0.ot& 3t 42,0003 821 x1= 336
0.8 = 50,0003 801« 1=t 400
ogxt= 6,000
0.2ET=28t 550,000& *4CH *23| 4,400
0.sHetM D28t 400,000& =20 =2 1,600
02 33294l 331,121 206,398 124,723
O2222=2 2 HMA 59,227
0.22A2NI22 30,488
oJlE2xg 5,110& = 260kw * 12& 15,944
oANEBE 60.6& * 20,000kw = 128 14,544
0.s=HIISTEXM2AE &2 19,900
oJdlEgg 5,110& » 200kw * 128 12,264
OANEZ 60.6& * 10,500kw * 128 7,636
0.HHAIZSSZNHEEEIIR2 1,412
oJlE& 4,190& * 5kw * 12& 252
oANEBS 64.43& * 1,500kw x 122 1,160
0.2CIANEZ=Z2E A2 2,417
oJdlEg 4,190 * 25kw * 12& 1,257
OMNEZ 64.43 * 1,500kw x 128 1,160
0.832= 1,200
oD & 50,000& = 12& 600
oA 50,000& = 12& 600
0. 8Dt =S 3,810
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AN B2

Zu: MBHD|ISRR(HEES/HIIS)
CHEl: ME M| 22 (cHel: & el
SN - HE O (BA) - MBAY - BAS ahol ko e
oHE & 158,750& * 12& 1,905
(OEA= Sy 158,750& * 12& 1,905
Od = Hl 102,919
0.2 1,163&*7,000 £ x12& 97,692
0.HE2de] HEZA 120,000 *13] 120
0.HEEAdH A= 2,500,000& *13] 2,500
0. ARAILISI B (A2E HEH)
8693 * 1,500 4 *2IH A 2,607
OXtE& eyl 168,975
0.8AXte 1,413,000& 90 x12& 152,604
0.24D] 1,206,000& «1CH=12& 14,472
0. XI A Xt 1,899, 000& 1,899
202 (44l 16,320 8,160 8,160
01 =Wobl 16,320 8,160 8,160
OJl2g23dol 170,000& = 89! » 12& 16,320
206 =l 123,771 112,128 11,643
01 &l 123,771 112,128 11,643
OHgdE ENHOIHFL 8,800& » 15004 1,320
OaxAZ22IdAZHY 43,629
0.&2H 3,500 *330kg 1,155
0. 443 70& *300,000kg 21,000
0.84E 2,200& x8,000kg 17,600
0.24= 450& *1,008kg 454
0.2 M 6,000& x570kg 3,420
OALAZFHIE HAFFY 20,000& 202! 400
OMH$EeXeld &E+xel 4357 42,720
0.32214 10,0002 *25kg*803] 20,000
0.8t 550& *22,000 £ 12,100
0.&JtM 10,000& »7kg*903] 6,300
0.0 EYIAE 21,0003 x200 £ 4,200
0.A5< 2002 x50kg* 12 120
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SN

o MEHOISR(BY2S/HIIS)
Sl MEMY Dl Bel k)
_ HE T
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
OHZTE 4% PET 254 7
1,500,0008* 1 1,500
OWYZEBNY HARERY 5,212
0.3 2 116420 * 1,000 £ *42 4,656
0.328 1,302 *100 £ *4Z 556
OMHIZESHaIZ2YRETY 28,990
0. 4230l 33,0002 * 800% 26,400
0.2 33,0002 * 30% 990
0.9t E2I X LE 8,0008 * 20074 1,600
207 ATIHEY| 40,000 0 40,000
01 cimEel 40,000 0 40,000
OSUMES2MYY FHAZASSHE
A 40,000,0002 40,000
306 £33 23,301 0 23,301
NEEE 23,301 0 23,301
OSZHIISZSHUE FUNAD
233,003,002 * 10/100 23,301
401 AlEHILL 0] 195,000 377,325 ~182,325
01 Al&H] 193,920 375,309 A181,389
OA2% FATR THBA 148,920, 00024 148,920
O22AF FHAY ZOXNAANS(SELH)
20,000,0002 20,000
OSZEHIISSSHIAL HATHT0IS
A 20,000,0002 20,000
OSEHIISSSHeIAIL LABHE L
5,000,000%! 5,000
03 Al&=CH| 1,080 2,016 £936
OAABTATREEHBAL 20|
150,000,008 * 0.72/100 1,080
MEMYI| £ 20,000 0 20,000
= 10,000
2 10,000
401 AlEHILL 0 20,000 0 20,000
= 10,000
2 10,000
01 Al&H] 20,000 0 20,000




AN B2

B MEHDISB(BTLS/HIIS)
el MEMg | 2 (el &)
_ _ HE T
SNBSS - MBAY - BES 0 & 24 e {imE=Eh

Ol =M 4X
500,000& * 400H 2~ 20,000
S 10,000
[ia 10,000
HREaS(2ZE2SW)(IIEHIIE) 184,661 0 184,661
LHEHHXI & 184,661 0 184,661
=HIjdzte 23H A= 184,661 0 184,661
701 JIEI AN ES 184,661 0 184,661
01 JIEtslAHNMEZ 184,661 0 184,661
OZZ2HMelANE2S (=ZEMEELSH)
184,661,000 184,661
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